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PART - A
RN — R
I. Four Alternatives are given for each of the following question incomplete
statement. Choose the correct alternative and write the complete answer
along with its question number and alphabet T7x1=7

3 IUNT TINVR /oTerer TePINYR T, TOIREOH YOITATR, BN, VJYRLY Ted,
BRERT LITIR, B0 T3, "o, Iy FRwFTeodn wIcWwO.

1. The impairment such as low-vision, complete or partial blindness and colour
blindness is called
DOTT R ROTREF WP TWJFT A TOMR TEOFTIROD mwrwéodamol &oert FBOINZTVT.

A) Hearing Impairment C) Visual Impairment
SlewlelelpibeleEsfiodowlets] QIODET [OTB;T 0L’
B) Motor Impairment D) Cognitive Impairment
BRCERT ROTT 0T TN QOTBT 0L’
2. Accessibility option are available under
BANOW SOOI B IYNIYNTY 00T,
A) Documents C) All Programs
TSR DY FIIONED
B) Help & Support D) Control Panel
TsSDIOMIWVIRMOIALS BowReer HIeF
3. Paragraph group is available under this tab.
TROVRF MO B3 LT VRONY WAIT.
A) Insert tab C) Review Tab
ReOmd e’ TIVEDIE R’
B) Page Layout tab D) Home Tab
T DTVA LT BTOYT €L
4. These are text or images included at the top of the page.
VRN TOWT DERATY, VITND VT WINT, wINRORTVIT.
A) Footers B) Headers C) Shortcuts D) Graph

PR, Geletog DT F BT T (3%)



II.

8)

9)

10)

11)

It is a sample fill-in-the blank document.
QW WO FTY 09D W 5@%365 0eE0D FNTTZ (TONST)

A) Style B) Graph C) clip-art D) Template
DTVA T (33) ST - edozgeesr

Autosum is available under this group.

BERCATT B3 MHOLTRONY ©LINT.

A) Cells B) Editing C) Styles D) Alignments
3Re3NeD QBT QTVATED SOEDNl)

This feature allows to change the formatting of the cell based on the values
8 OFY) BREING  FTOT ECLI0TY O3, maﬁémﬂ BTO0T 200 WTCVRH NWBL  ATOOD

BRI,

A) Conditional Formatting B) Unconditional Formatting
TORCRTST TOTCEIOTT OFTORCRITT T 33O

C) Sort & filter D) Freeze Panes
T, B, LT Qoo Be

Fill in the blanks with suitable answer. 3x1=3

30 YVITNOOR VBT wnHR, PIrIRR

The data is broken up into bits of same sized pieces called
TTOT[, BVITWON 33, DOWNRTON VPVBRYTE QDI

The expanded form of LAN is
R R.D°. BB &;_3@3 SR

In the database management system in table data is stored in single table.
TZFHOWOD VT BETD wém@omg — 3RCHITY TIOBNW DT FRETHITY BONTHOMTT.

Icons are given in column A and their functions are given in column B Match
them.
A-TYoHQ RoGINERy, T B-TohQ OYRE DOLrIT, ARONT. OPYRERy, TR0
WBoW0.

Column A Column B
(i) > a) Breaks
e
=l
(ii) ' b) Table
B3
(i) —- c) Font
csplelsg

0

(iv) %?

d) Autosum
SUeatvel

e) Bold
BT/,
f) Sort & Filter
BNEEBOR Y, BTN

g) Italics
Me{IETato)



III.

12)

13)

14)

15)

16)

17)

III.

18)

19)

20)

21)

22)

IV.

23)

24)

Answer the following questions. 6x1=6
81 3UNT IFRVR wvZoR.

Define computer network.
NEoT ZOOTI), WYLV

What is template?
30308 Q0TTeN?

In which tab you can find/see the page setup group?
O3 ERIFRY VY T AL OT MHOTRY, TEDWTVW.

What is the use of autosum?
BERCIRTS YVTOSLeNTeT?

Which is one of the most powerful feature of electronic spreadsheet?
DBOT TFONY FOWIB! B8 TNAIVT 20T ©FE AIIFYT?

Write the steps for conditional formatting in spreadsheet.
NBOT TFONY FOREHI® FOT ICLON" TOWPYTWY, YOTOIRENAT TOTBIY, WICWO.

Answer the following questions. 5x2=10
31 3UNT IJROR wvZoA.

Write the steps for inserting shapes in word processing.
BT BOFTHBONY 30N, FeTF R B[RWR BOIT/I), WI0WO.

OR / ©%w=0

Write the steps for inserting symbol in a word processing.
BT BOFTHONY WH,00T), FeORT TOIJTY, LTOWO.

List the two types of views available in spreadsheet.
NBOT TOYONY TRIINT AT ITT JRWNTRY, TEImPR.

What is slide transition and what is the purpose to insert charts in slides?
NPT 3&35036 (VTRBE) Q0TTEN? ToMw LRVFOITY sgmm& ReORT YT TR0

Mention any two respond options available in meeting request.
BOORNE SORENY OFHTT OIPRTOTIRL RTE [go LeRINTD, THOA.

OR / ©%=0

On what basis you can create appointments in calendar software?
O30T STOTT w300 23ee3od %%355301 %Dé@oacs 3O3TY TWRO.

Write the syntax for SELECT statement
SELECT @e930% 39,609, S330D J0DT[/R, Te0.

Answer the following questions. 4x3=12
31 3UNT IFRYR LwoZoA.

Explain the procedure to include a header to a word processing document.
TS FOFTBONY TNSOHD, BRTIY FOWT LIV, VWOA.

Write the uses of the following
83 FYNTPNY TOdeEnBI), WBCWO.

a) Table b) Speaker notes c) Movie clip
3ReTF QBT (BRRHET) RN T
OR / &g

Mention any three applications of inserting transitions.
ERIRT AT, FeOBDTOWOT ST CIIVPYTIVTTR TR TO3RCRINTI), S9A.



25)

26

27)

28

Explain meeting request. How can you schedule a meeting request using e-mail

application software?
R 30BN, DWOA. D-¥OW WRIERT IFOTYOTHI), YVTOIRENVBHOW ) O3B

0e30NY [z ERCOIONZ, FONFARYEIDNO?

Write the differences between DDL and DML
B.3.0C. DB B.00.Q. N IR QT aséméﬁﬁ@m& 2TOND.

Answer the following questions. 2x4=8
8 E$NT IJRoR ¢ozor.

Explain the following
83 FINTPNYI), DWOR.

a) Sort b) Filter c) Chart d) Conditional formatting
S0 RYCIIAEN 3g BORCRI FTRT 200N

Mention the uses of the following
83 TYNTPYN® LOTOIREANTT), 9

a) Insert statement b) Update Statement
QIRT, BT RO’ VT BT AT RO’
c) Delete statement d) Create statement
Rdetr Fewreddow’ 3odeer Feersddoe’
OR / ©%w=0
a) Table b) binary date types
o3 330 wow ¥
e 9 d "~
c) Data time d) Report

oL @%w @ﬁraec;



29)

30)

31)

II.

32)

33)

34.

PART - B
NN - W

Four Alternatives are given for each of the following question incomplete
statement. nChoose the correct alternative and write the COMPLETE
ANSWER along with its QUESTION NUMBER and ALBPHABET: 3x1=3

First Course in a meal is called
a) Starter b) desert
c) Main course d) beverage

Choose the correct sentence
a) I will not fighting b) I will not fight
c) I does not fight d) I don’t fighting

Observe the analogy and write the answer.
Past tense: visited :: Present tense:
a) Visit b) Visiting c) Visits d) Visitors

Fill in the blank with suitable answer. 1x1=1
Models are helping

Answer the following questions 1x2=2
Write any four components included in the resume
Fills in the blanks with the past continuous form of the verbs given in the
bracket: 1x4=4
i) We (see) the movie for the second time.
ii) In the evening, we (plan) to make a chocolate cake.
iii) The supermarket (office) sale on all stocks.
iv) I (visit) my childhood friend Venkat yesterday.

OR

Fill in the blanks with the correct preposition given in the bracket:

a) Oh! I think that’s my bus that red truck (behind, over)
b) The florists stall is Kumar’s house (below, went)
¢) She will be waiting for me the book house (on, at)

d) We went the library (on, to)




